Instructor: Dr.R.A.G. Seely

I

Answers to the “Hand-out Notes”

Cal II (S) (Maths 201-NYB)

Integration by Parts

1. —%$2C082$ + icosQw—l— %xsin?w +

3. %xQ arcsec z — %\/$2 -1+
5. %xﬂnx - %xz—l—C

Trigonometric Integrals
1

2. wtanx—ln|secw|—|—0

4. 2 e cosha —|—

31 3T gin ba + C

1. gcos3x—cosx—|—0 2. %x—isin?w—l—%sinélw—l—C

3. %x—g—zlsinélx—l—ﬁsin:ng—l—C 4. itan4x—seczw—|—ln|secx|—|—0

5. %tan?’/?x—l—C 6. %sec5/2x—2\/secx—|—0 7. étan6x—|—itan4x—|—0

8. %CSC2/3$— %CSC8/3$—|—C 9, —lcot2x+ln|cscw|—|—0 10. —écot‘l/?’x— f’—ocotlo/?’x—l—C
11. In|sec(lnz)| + C 12. %C0836$——COS6$—|—C 13. sec5/2w2—\/secw2—|—0

Trigonometric Substitution
LVA=a? - 2|24 Y2 4 0

3. %111(962 + 22 + 5) 4 arctan (%) +C

2. Va2 -4+ C

L arcsin (x"'l) +

4.\/5

5. % V9 — 8z2 4 \/— arcsin (3\/—) +C 6. %w(az — x2)3/2 + §a2x\/a2 — 24 §a4 arcsin(%) +C
7. In(z+va?2-9)+C 8. farcsin(2z — 1)+ C 9. Va2 -9 — 3arcsec(5) +C
10. In |va2 4+ 62+ 134+ 2+ 3|+ C 11. %$3—x—l—2arctanx—|—0 12. (Too long!)



